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’ill EISET AER |RIERZI| X F BIFEE(y Sv/h) LS
BNV R1.6.4 14:05 [ 0.064
SH/DER R1.6.4 13:30 & 0.035
= BN R1.6.19 14:00 & 0.059
SEININERR R1.6.6 14:00 5 0.044
fRET/NERR R1.6.3 14:35 & 0.066
/NN R1.6.4 15:00 & 0.062
RKARINER R1.6.26 10:20 & 0.054
AR F VR R1.6.11 14:25 ) 0.054
BRINERR R1.6.26 13:30 & 0.050
MEA/DERR R1.6.26 14:00 & 0.053
TKAR /N R1.6.25 13:50 & 0.054
RHDVINER R1.6.24 13:45 ) 0.043
KiBINERR R1.6.11 13:55 £ 0.054
EIRINER R1.6.13 14:10 5 0.038
BN R1.6.13 13:50 & 0.056
SREEF/INER R1.6.14 14:05 ) 0.065
HR/NFER R1.6.6 13:35 & 0.052
HE/NER R1.6.17 13:45 5 0.055
EH/NER R1.6.18 14:50 i 0.048
ABINER R1.6.24 14:10 ) 0.052
IRANERR R1.6.12 13:55 £ 0.069
B/NVRINERR R1.6.11 11:10 ) 0.055
ih B /AR R1.6.3 13:50 i 0.064
Rz /N AR R1.6.5 14:10 ) 0.050
LLIER /N A R1.6.5 14:40 £ 0.061
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B EZ PR BIER | BIER BIEE(y Sv/h) &=
A& =B INER R1.6.28 13:30 0.066 B EEE BE50cm
BRI B GRIER50cm)
BIEIZ PR AIER | RIERZ BIFEE(y Sv/h) S
BRI R R1.6.14 13:25 0.057
PR GRlERIm
B EZ PR BIER | BIER BIEE(y Sv/h) &=
BhIl g R1.6.4 14:30 0.052
IR PR R1.6.17 14:40 0.067
B E hk R1.6.19 13:30 0.041
B PR R1.6.6 14:40 0.053
ZEPER R1.6.14 13:50 0.050
RKARBER R1.6.26 10:20 0.048
AR F R R1.6.11 13:40 0.060
REFER R1.6.25 14:10 0.063
BRERPER R1.6.13 14:35 0.054
EEEEE R1.6.17 14:00 0.064
EHEPER R1.6.18 14:20 0.067
ABPER R1.6.12 14:15 0.056
IRAR PR R1.6.12 13:40 0.059
o B iR R1.6.3 13:40 0.063
T+ EFPER R1.6.5 13:45 0.072
FAST R GRlER1Im)
BIEIZ PR AER | RIERZ BIFEE(y Sv/h) S
ZTHEXVAMERTER  [R1.6.17 14:00 0.088
Y#E - BECELE - REE GBIE=S50cm)
BIEIZ PR BIER | BIER BIEE(y Sv/h) &=
h/NER S HEER R1.6.25 13:35 0.050
SHYHE R1.6.17 11:50 0.032
=S HE R1.6.13 15:00 0.057
B $hHEE R1.6.24 15:30 0.050
EILHFHE TEFDE=HAIELL
ERYHE R1.6.25 16:30 0.046
KiBYHE R1.6.21 15:30 0.075
KASHE R1.6.1 8:15 0.067
HR$H#E R1.6.24 10:30 0.067
LEYHE R1.6.21 16:00 0.073
¥tz 5t E R1.6.18 15:00 0.056
NAREEER R1.6.19 12:50 0.062
MNHELSREE R1.6.25 13:30 0.066
EBELYRER R1.6.24 10:50 0.057
BEEREERE R1.6.20 13:00 0.077
HOERECELE R1.6.14 13:40 0.071
BHKFRER R1.6.18 13:30 0.063
HTEREE R1.6.19 11:00 0.064
WHECRER R1.6.20 16:00 0.049
MashiREERE R1.6.19 13:30 0.056
{LREE R1.6.19 11:30 0.056
Cwo65R8E R1.6.18 10:00 0.064
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B EZ PR BIER [BIERZ| XIE| BIEE(USv/h) &=
+EHHE R1.6.26 16:00 5 0.035
BEOPHE R1.6.26 11:00 & 0.066
HEdH#E R1.6.25 15:30 3 0.087
BECELREEVLLE R1.6.13 15:40 & 0.073
OIEY SR R1.6.21 13:45 ) 0.073
DS FHE R1.6.20 17:30 & 0.055
BECELEUALESEhYHE [R1.6.12 16:30 & 0.062
TS HEE R1.6.26 10:40 & 0.075
AN EDLHE R1.6.20 9:15 3 0.075
ARHE R1.6.30 10:40 & 0.039
TEDFHHE R1.6.26 16:00 5 0.079
HEADESHE R1.7.1 10:25 & 0.091
KRS FHEE R1.6.17 14:01 3 0.079
BEECELREALL R1.6.5 11:10 2 0.062
=DEYHE R1.6.20 11:30 i 0.062
LAY HE R1.6.22 10:00 i} 0.061
WLELRER R1.6.14 13:35 3 0.069
CELOWZREECELE R1.6.20 14:30 2 0.042
HREREEE R1.6.29 11:20 ) 0.067
BIIEERER R1.6.29 13:00 2 0.069
TIHLARBE R1.6.11 12:00 ) 0.071
HKLAIZREER R1.5.22 9:00 & 0.059
VI EZHREER R1.6.30 10:00 5] 0.062
ZEXKGRECELR R1.6.20 14:50 & 0.068
OS5 HKREER R1.6.27 9:00 3 0.073
nAIFTREER R1.6.27 9:00 & 0.076
HZILEEEBER R1.6.25 11:05 3 0.064
AabRER R1.6.24 11:30 £ 0.078
EEUEREEELE R1.6.27 16:30 ) 0.066




